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101 1 1 59 10 3 1 135,000 | AVAILABLE
102 2 2 88 20 3 1 175,000 | AVAILABLE
103 1 1 71 20 2 1 155,000 | AVAILABLE
104 1 1 59 10 2 1 135,000 | AVAILABLE
105 2 2 90 15 2 1 180,000 | AVAILABLE
106 2 2 91 12 2 1 180,000 | AVAILABLE
201 1 1 59 10 2 1 140,000 | AVAILABLE
202 2 2 89 20 2 1 - SOLD
203 3 3 131 29 2 1 320,000 | AVAILABLE
204 2 2 a0 15 4 1 185,000 | AVAILABLE
205 2 2 91 12 2 1 185,000 | AVAILABLE
301 1 1 60 10 5 1 145,000 | AVAILABLE
302 2 2 89 20 64 4 1 225,000 | AVAILABLE
303 3 3 130 29 80 4 1 350,000 | AVAILABLE
304 2 2 a0 15 71 4 1 225,000 | AVAILABLE
305 2 2 91 12 2 1 190,000 | AVAILABLE




